rm417 X%/ (410970—4872)=1.866
F— — 71 + - T 1 T T T T T T T T 1T T T T T T3
© BIC 820942.44 ABIC —1.188 AlogP 0.2579
5 I x> 757965.62 Ax?> —1.188 AlogP 0.2579 ]
[{e]
°r .
o ke — I ————————,——
mun [ ]
Ll ]
U ]
b ]
o
X 4872
R A
o L. P T S (S S S E T SR
- 10 15 20 25 30
30 iterations

log[ Relative Probability ]

X%/ (410970—4872)=1.866
—

BIC 820942.44 ABIC —1.188 AlogP 0.2579

Fe2 7% 399+182 km/s
BLR 8990 NLR 900 km/s

1000

Window Half—Width (km/s)

100

30 iterations

BIC

BLR

NLR

Fell

kdh1 8-0ct-2021 16:49



